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F5| #A Sk S5 REK S B BERES
1 B Y P ——) 12000 e ——"T
2 R S5 P —" 12000 6 2sksksksksksketoskok 4.6
3 HyE 5tk 5 5 12000 6 2skktekokekskokokok T2
4 Z= B[l 5 2skskskskdkskkokkk 5 12000 B 2kskdkdkkkkkk5 |
5 B ARy 52skskskskokokdokdok Q7 12000 6 2skskstokstskokdokok | 1
6 HFK & 5 1 sskskosksdokskokskk 40 12000 B2kskkkdkkkkkk2()
7 A= 5 1 skskskosksdokskokskx 29 12000 B 2skkskdk ok gk k54
8 g 5 1 skskskstokskstok ok 42 8000 B2k Ak Kk 86
9 M= 1 5kstskskoskodokkokk 27 1000 B2kskdkkdkkkkkk5(0)
10 | 2223 1 5sksdoskstoskstoskokk 2 X 7000 B 2skkskdk gk Rk ()2
11 8 R 1 5skskskskskokskokokk 26 400 6 2skskskskskskskokokk |
12 | FrlG 1 Sksksksttstokokok k2 5 12000 e ———
13 | BEEGH 1 5skstskstoskskokok k67 8000 6 2skskstskatskokdokok ()2
14 F AR 1 Hekskskeskskoskokskskk 29 12000 62 kkskskskskkokkk69
15 | e 1 5kskstskstoskskook k2 | 2000 B 2skkskdk gk kR4
16 W/l 1 5sksdoskstoskskokok k28 8000 B 2kkskkskkskkkk6 |
17 Fi 1 5ssksksekkatkokk 09 8000 e —
18 | MHEH 1 Sskskstokskskodokokk ] 3 8000 62skskskdokskkdokok 1 )
19 | F/K 1 Sksktstoktokkk5X 8000 B2%kkkkkkAkk 20
20 | JEaNEs 1 Skskstokskdoskokk k24 200 6 2skskskdokskkAokk 08
21 Kyt an 4] sskskskskdkokdkok k20 600 B 2skkskskskskskokskk 38
22 | ZRF T —m 150 e —_——
23 | =T 1 3skstskstskokdokokk 4.5 8000 B2 kkkskkk kA kK S()
24 J& i BH 1 3skskskskskskskoskosksk Q7 12000 B 2skskskokskskskokoksk 2 2
25 FENT 1 3skskskstosksdokkokk 2 | 8000 B 2kskdskdokskokskk() |
26 W FELS A 5%k k%26 400 B2kskdkkdkokkkkk 57
27 | FEE A5kkktdokkok k68 400 62k %kkkkkdokk ] |
28 Jrid s A5%skkskskkokdkokk 9 12000 B2kskdskdkokkokskk ] 7
29 | mEX i — 8000 e —
30 | BEE e —] 7000 e —m
31 20 LT 52skskskskskskkokskk ] 1 4000 62kskkkskokskkokk 5O
32 | HEZ e —y, 4000 e —
33 | EMX B2k 1 X 300 6 2skskskskskskskskskok 49
34 [ £ 45 H2skskskskskskskskokok 63 12000 62 kskskskskskskoksksk DD
35 HH B Fai H2sksksiskskekskskoksk 29 8000 62 kskskskskskkokkk6 5
36 IR 5 2skskskskokokokokokok3 | 10000 B ——_—
37 RS H2skskskskoskokokokokek 2 () 8000 62kkkkskokskokokk 4 |
38 E=R/GiR/5is 5 2skskskskskskokoksksk 48 12000 62%kkkkkkk kK60
39 PP 5 2skskskskskkskokkk 55 8000 B skskstktskok ok 7 5
40 | BREXK Py, 12000 62tttk 4.5
41 Tk AR, 4 ] skskskskokokokokokok 6 | 8000 6 2skskskskskskokokokok 37
42 | AR 4] sskskskokokokokork ] 3 8000 6 2skskskkkkokokokokQ




43 45 5 4 1 skssksiskeokekokk 5 7 12000 6 2:kkskskekskokokskek T 2
4 | HH~A A1 xx%KKKXKKKOH 8000 6 2skskskskskkokokokokQ 7
45 | XSHEME A5sskskskdokkkokk4 3 8000 62kt dkok 29
46 | B WK A5skkksoketokok k2 12000 6 2kkskstsokektokok 26
47 | Rigg AGsksskskskkok k% 46 12000 B2 kkkkAAAK T 5
48 | sk EF e —-— 12000 B2kl 4.
49 | ZFHE 4 kkkkrokk k%85 12000 R
50 S S 4 1 skskskstoketokekorksk() | 700 6 2:kkkkekskkokkk 35
51 F s 4 1 sksksksioskeokekokk 3 7 200 6 2:kkskkskskokokskk 8 2
52 Bl 4 1 skskekskoskskokokok 4.8 12000 6 2kskskskkskekskoksk 82
53 Tk A1k k%89 12000 e
54 pULEXES 4 1 kksrskekskskokoksk 25 12000 6 2kkkkekskkokokk 89
55 [ e 4 Dksfrksforkodork4 4 6000 62k kkckkokekotokk 7 3
56 i BH IH 4 srckotokedokotokk 28 12000 B 2kdksiokskokskok 3 7
57 A5} s 4 1 ksksokdokdok k40 12000 62 kkdkdkokokokk 4 7
58 BRIETL 4 1 skskskskskekokekokk 28 12000 6 2:kskskskskkokskek 2()
59 | FFH 4] $kksokkrkk 0T 12000 D —_—
60 [ EH 36kskskkkskskskesksk 2 12000 6 2kkkkskskskskoksk 8 7
61 25 4 Dkstoroksforokadorsk4() 12000 6 2kkksdtoksdorokk 3 |
62 7K IR 2 1 skskskskekskkokskk 25 12000 6 2:kkkkekskkokkk 28
63 2k 2 ] kokokkok ok OX 12000 B2k kKK 4D
64 | TFELE 2 1k k%% 26 12000 B2k k%93
65 Xk NN 2 1skskoskskstokokskoksk 2 7 12000 6 2skskskskskokskekoksk (08
66 FR T 2 [kskstorokeskototoksk5 8 12000 B2%kkkskkkekokkk 87
67 | THET 9 1 fatokkattolkok 4.0 2800 B2 ktokkaktok k%93
68 | HEtH 2 1 skskkdokskkdok k66 12000 6 2skskskstskskokstskok D
69 I 2 Lskskskskeskoskokoskk 24 12000 6 2:kkskskskskkekskek 79
70 | Ak iy 12000 B2k kb % %09
71 | PEAEEY 9 L kskkkrkkk %20 12000 e ——n
72 XS 2 Lskskskskekskkokskok 26 12000 6 2:kkkkekskkokkk 39
73 LN 2 1 skskskskekskekokskok 4 2 12000 6 2:kkskskskskkokkk Q7
74 FyiE 2 [ sekskokekekokokokok 1 6 12000 6 2skkkkekekokokokok 76
75 FHrdn 2 Lkkdoksdorokokokk 25 12000 B2k Akkkkkokk 57
76 pliiE3 2 1skstskskesioksksioksk 4 X 10000 6 2skskskskskokskskoksk 58
77 | EAE 2 I sksksskkokokok X 12000 623kt pokokk 03
78 X 7 B 2 1 skskskskokokokokokok 2 | 12000 6 2skkkskekakokokokok 89
79 | SKIHEE 22k kkRkk kxR 15 9300 B2k kbR R% 33
80 | ZFlnE D2HAKHKFAAKKDE 12000 B2tk T8
81 FAKIR ABkskskskstokekokk 24 12000 B 2skskstkeksokekok ()2
82 | ILHUE ABxtskskdokkkokk 22 7900 B 2skkskkekkokekkk 59
83 [ 75 ~F ABkfrkdokkdokk 2 3 12000 62kkkkkokokokokk4 b
84 [k AL ABkfrkdokkdokk 1 5 12000 62k kkkkokokokok k69
85 | BFHW ABsiskskiokkkokk 2.3 12000 B 2skkskkekskokkkok4 5
86 | FHIE AGkkkskskkdskokk ] 8 700 6 23kkskskskeketokok 69
87 FERH B 4Gksksksikokokokokok 1 5 12000 B 2skskkokskokskskokek 39
88 7 ABkkstotkskekokk ()4 12000 6 2kskskskkskekskoksk4 5
89 i 1 Skttt 2 X 0

90 | FrEMH 1 Hasekatskokdokokk 28 0




91 ) 1 Boketoioiorx 20 0
92 | kfESR 1 Sskskskskotsskokokk 08 0
93 | XIpEEs 1 Gksteksoketorsokk2 | 0
94 % 5 1 1 5kstoskskskseokskorsk | X 0
95 | HEH T 0
96 5 1 5skstokstoskokdokokk 1 7 0
97 | #wEK 1 Hastokstsoksfokokk 32 0
98 H 1 Gteksoletoksiokk49 0
99 | ®ARKEH 1 esskskskskskekekk 2.3 0
100 | ERZ e A 0
101 | 5K#6 K 1 5sksdoskstoskokkok k28 0
102 | EYEH3R | Bkl k22 0
103 | #75il | Bkl ek24 0
104 7B 1 5ksksdoskstoskokokokk 23 0
105 SE 1 5astokstoskokdokok k23 0
106 | 5KAEXK 1 Skststokkatotokok k28 0
107 | E7i 1 Gteksoletorokok2 | 0
108 | HEZE 1 Sskskskokoteseskokokok 1 8 0
109 | FHEHH 1 Golofetskolololok 22 0
110 R I 1 5kstokstosokdokok k28 0
111 | PrEHk 1 5skskskokotsskskokk 26 0
112 | fi#¥3eig 1 5kstskstoskdokkokk 28 0
113 | sKERfE 1 Bkteksekoksickok 24 0
114 | #ET T — 0
115 | HffR 1 Gtttk 28 0
116 | FjiE ¢ 1 5skstoskstskokdokokk 1 9 0
117 | 5KAE | Bkl k26 0
118 | MAFan T — 0
119 | =R 1 5stokstskokdokokk 1 6 0
120 | EFEE T —r 0
121 | ZEE 1 Beskskskskskskekekk O 7 0
122 | JEEER T 0
123 | £EE 1 Getoloksoloeiok 29 0
124 | Wik T —— 0
125 | R T —r 0
126 | 4R [ Gtttk | | 0
127 | F4E 1 Getoloksolokeiok 22 0
128 ER 1 Skststoskattokokok 1 7 0
129 | =HEHERE 1 5astokstoskokdokok k25 0
130 195 1 5kl 1 6 0
131 | AHEER T — 0
132 | FEF T — 0
133 | £ E# 1 4ssksdokokdokokk 24 0
134 i 1 4skskstoskstoskokoskokk 27 0
135 | F—HF 1 4skststosokatotokokk 1 ) 0
136 | ZF=EH 1 Askstototototokokokk 69 0
137 | i A" 0
138 | K= 1 ststioiorton 1 0 0




139 o HE 1 4swstoskstoskokdokokk6 | 0
140 | 5k 1 4sktiiorior k22 0
141 | Xilie it L4k k k08 0
142 Bk 1 Asskootokokotokdkk 48 0
143 | PR e 0
144 | XTI 1 otiotortokd6 0
145 | S99 L4%skpk %50 0
146 | #RHE L4%skrrrrx0] 0
147 | F kS 1 4skststosokatotokokk 1 7 0
148 |  Fdl 1 4sktersoetorsork ] 1 0
149 | Ju T —— 0
150 | ZEme=% I —), 0
151 | ARG [ 4skspsokstorsor k46 0
152 | ZECHf [ fobtotolokokork 24 0
153 | EifEom e — 0
154 | sKREFE 4] skskrskkokkokk 7 0
155 | Z4&At 6 Jkkeeokokokok4 X 0
156 | P& 6 Jkkkkkkkokokok 20 0
157 | HRE 6 3kttkpottokokok4 7 0
158 | VE B 3kskkskdkkskkk k()0 0
159 I 6 3kkekeketotokekokok 29 0
160 | IhKH B3 kkkktookok 16 0
161 | KIKF B3kl k4 X 0
162 | ZERRER 6 Jkkkokkokok 64 0
163 | /MG 6 3kkskdkdokkokk ] 3 0
164 | 2574 B 3kskkskdkkskokkk T () 0
165 G NN B3kkkskdokskokskk 27 0
166 | “Z%EM 6 3kskdokdokok kx5 0
167 | 1R 6 3kkekeketetokeokok 1 1 0
168 5 6 3ktpspotsoktokok | X 0
169 | Wi Hi 63 kkkkkkkokokok 28 0
170 | ARF | 63kkkbbbbkls 0
171 | 5258 6 Jkkkkkkkokokok 19 0
172 | E¥#ER B 3ktkktkk 18 0
173 | FHERE AGkkkkkkkkk k(5 0
174 | %M ) 0
175 | #tifg& 46kcolokokek 2 0
176 | Z=JIC ABssksksreksokskokk 19 0
177 | #5 46skeictokorior | 3 0
178 | R 46ktckopsiokokiolk 26 0
179 | wigkE D i PAY 0
180 | XI5t 4%k RRRREROX 0
181 | A ABksksksiskooskaokk 2 X 0
182 | Z=id AGkkkskkkokdkokk ]2 0
183 | MRS ABREFRFRERERTX 0
184 | [RINGE A6kkkkskkokkk k46 0
185 | oAy ABHERRRRRRRRDD 0
186 | FEER T 0




187 | A%t 4Gterstololotork ] 1 0
188 | BARALES 46ksetetorkkk 4 X 0
189 | iESG 4Bktstopkkiokb | 0
190 | BRH3% s 0
191 | Ak 4fsksoeiolrk 14 0
192 | BEVE 4Bk | 6 0
193 | WH® 4tttk 26 0
194 | M&EE; 4 Gksksksktokokekk 3 7 0
195 | ZJt 4Gtetekstoloklok 22 0
196 | ZEH1R ABtctockkrk28 0
197 | JEERER 46%kkxkkkk k%26 0
198 |  ¥FEK L A 0
199 | ™ ABkkstskskktokok k2.3 0
200 | BB 4@teteksoloklok 22 0
201 FB1h ABkkkkskkokkok k60 0
202 | FBREZFEST AGkkkkkkkkk k87 0
203 | FREE 4Gksksksketekokekek 1 () 0
204 JE g I — 0
205 | P& ABssksksrcksicskskokk QT 0
206 | TH/NES 4fktekotololekk 2X 0
207 | L E 46kl kX 0
208 | ik i A 0
209 | H4EA AGksktok Rk %9 () 0
210 | ZENLE0 AGxkktokkkk k55 0
211 | #WHER 4fksseoiorrdk 13 0
212 | FFE 4Bk 23 0
213 | Figd 4Bkl kol 2X 0
214 | R D i P 0
215 | FEFHE Atttk 23 0
216 | i5FEH ABkstststskskskskokk 25 0
217 | BRigz I —T 0
218 | I 4fkssotoiolrkk 22 0
219 | FHfk 4Bktstopkkk | 0
220 | RPEEL 4fkssetoiolrkk 22 0
221 | BB ABksrtskskitokokk 1 6 0
222 | &k 46sksoietoorlok | 0
223 | fhAEEE ABssksksrcksiokskok k68 0
224 | MR 4fkssoiolr k58 0
225 | sKAHZE 46kl R TX 0
226 | X fh R T — 0
227 A AGxkkdok Rk %85 0
228 | FHE I 0
229 | iE/DAe AGkkkkkkAk k%88 0
230 | FE#& ABksrtskkaktokok k82 0
231 | APEEA] 46tttk | 0
232 | #HIH%E AGkskdok Rk k89 0
233 | REE 4 Gksksksketekokekk 3 7 0
234 | AR 46srksckekok 2X 0




235 | XIZHE 3Gkkctokotiokk 1 5 0
236 JFi[pES 36kskskskskokskokkok 77 0
237 | X [ 4ctortotokkk28 0
238 | =55 42tttk 26 0
239 | B ) 0
240 | PhEER ™, 0
241 | 5kRZ I 623k ksokokok 2 | 0
242 LT 62skskdokkakdokok B8 0
243 ZERR i ——r 0
244 | EH &R 62Kk A2 0
245 | FE B2skteptokkok k25 0
246 |  HBIK B2skpkkokAk 25 0
247 | Mk 6 2kkkkkokkokokok 27 0
248 | BUEIG B2skketekkekkkok 2 | 0
249 | HFH 6 2skkeekkkkkok4 5 0
250 | X3 EE . 0
251 | JFIHK 6 2kkkkkkokokokok 25 0
252 | HfEH B2tk 24 0
253 | AR 62%skskskskokotokskokO8 0
254 | ZFREZ 6 2kkkkkkokokokok 23 0
255 | FKUlgE 6 2skskskskskskskokokok 2.7 0
256 | Mei ) 0
257 | mIRIR 6 2skktoktokokokk 46 0
258 | X% 6 2kkketotokk 16 0
259 | BASCH 62Kk A2 0
260 | ERFA e ——Ys 0
261 | sKEH e ——Ys 0
262 | fheifh B2tk X 0
263 | gka#kAl 2 Lskokotkok 27 0
264 | EHI 2 LRk Rk RA K02 0
265 | HEm4T 2 Dkekkkekkkokok 1.0 0
266 | ZFHE 2 Lsksttosokatotokok 29 0
267 | FEK 2 Lelotototolotsolok 2X 0
268 | A 2 Lkt 24 0
269 | &4t 2 I kselotostoiokokok 19 0
270 | #M/h4a 2 | skskskskskkokokokok 38 0
271 | skAEH; 2 I ssksksdokdokkok k28 0
272 | RRE 2 etk 1 5 0
273 | FKYESF i) 0
274 | WENH 2 I sksksksdokdokkok k20 0
275 | fRIK 2 Lelofottolokiolok 28 0
276 | ZE5ilk 2] efottokiok 28 0
277 | =P 2 1 skskkdokskkdokk 23 0
278 | ki 2 | sksteokeksiiokok§ 5 0
279 | KR 2 Lskokokk 23 0
280 | {175 2 Dieksitolololokkek 16 0
281 | ZFlt 2 Dotk ok 26 0
282 | FKFR¥L 2 Deksitololotokokek 2 1 0




283 | 1% 9 | skletokeksiiokok 2.3 0
284 | MAEHE 2 I kselotoetiokokok 29 0
285 | #&E 2 Deksttololotokkek 27 0
286 | H%EH D) 0
287 | XKl 2 Lol | 0
288 | Xifii 2 Ikseletosokelokk 24 0
289 | fi] 2 Listokotokokkok 2X 0
290 | fE % 2 Dskststokatokokdokok [ 3 0
291 | JHARES 2 Lotk 28 0
292 | VTLAEAE 2 Ikseketosokokokok 2X 0
293 | kIR 2 Lekettololotokok 2X 0
294 | FE 2 sketekekkekiokok49 0
295 | fE—K 2 Leksktololotokokek 2 1 0
296 | SEE 2 Dkskstokatokok ok 29 0
297 | ZFyiE 2 Diopstookolokkork4 8 0
298 | XIE 2 Lskopkkaokokok 27 0
299 | A= 2 | skskskskskkskskokok 2) 0
300 | AN 2 Dkskstokstokok ok 4 5 0
301 | EREM 2 Liskstootookk 1 X 0
302 | FEHH 2 Lisktletool k24 0
303 | FHFE 2 Ikselotosokeork 1 4 0
304 | &HHik 2 Lskoktkk 29 0
305 | FIEjH 2 Dskskstokatokokdokk 02 0
306 | EAR 2 Lstopktaokokkok 22 0
307 | SBAREE 2 Lkkrkrkrnk 16 0
308 | fREEE 2 Liskstopsokoktokkq 7 0
309 | EtA 2 Isksopsoookk 24 0
310 | fA[f34% 2 Lkokiopkx 12 0
311 =25 2] stttk 66 0
312 | MR 2 Liskopktokokok 23 0
313 YAk I —— 0
314 | S 2 sktekekkekkeokok65 0
315 2 21 kkkkdodokkkk 23 0
316 | Z4E 2 Leksktololotokokek 2 1 0
317 R 2 Tksskskskototokskok 25 0
318 | K 2 Deksitolololokkok 28 0
319 | XA 2 Lelotottolotolok 23 0
320 | FhBRIE 2 Lekskolololokokk 24 0
321 | ZEH 2 seteterkeketeiok 1 1 0
322 | 1B 2 I sksksksdokdokkok k25 0
323 | FiHF 2 Lssksttokatotokok 4 ) 0
324 LEh 2 stttk 25 0
325 | TN K 2 ssketotetekkkekek 2X 0
326 | FMIEMB | 2lkkiskioriornk22 0
327 | R 2 Lk kX 0
328 | HFEY 2 Lotk 20 0
329 | XIEHEH 2 Lskktkonk 19 0
330 | B} RBE 2 I ksskskkskokdkok k4 4 0




331 | HZEfE 2 Ikkiok ok 26 0
332 | BHHA 2 stttk 4 X 0
333 i £E I ——r 0
334 | ZFIEPE 2 Lsksstotokkkok 2.3 0
335 | iBXWils 2 Dotk ok k08 0
336 | H#EA 2 Iskstokatokokaor | 8 0
337 | S T —— 0
338 | HK 2 Lkok ok k 0.0 0
339 | H LA 21 skskskdokskkdokk 27 0
340 | T I ——) 0
341 | EE® 2 1 sksksksdokdokkok k48 0
342 xT e ——, 0
343 | ZFe 9 Lkskskkrkkkx 1 X 0
344 | fMED 2 Lkttt 04 0
345 | AR 2 L kkkkxkk k%26 0
346 | oy I — 0
347 | 2 Dkskstokatokokdokk 2 5 0
348 | IR 2 T sokskskakdokokok 24 0
349 2% 2 Lkkekkkokokokok 62 0
350 | HfiE 2 otttk 2X 0
351 | BXRLF 2 ksksksksskokkkxk () 0
352 | HEK 2 L kskskkrkk k%27 0
353 | gRuEEE 9 | skstetokeksiiokok | 5 0
354 | pFakar 2 kkkokkk k2 | 0
355 | #HEEH 2 Dkstsokstokokstokk D | 0
356 | i&HkHE 92 L kskkkxkkk %20 0
357 | JAFRL 1 5stokstoskokdokk k85 0
358 | HHBTUR 2 Dsksstokststokaoskok 2 X 0
359 | XN 2 | kkolokkk % 24 0
360 | HUEIR ) 0
361 1 9 | skskskskskkskokokok | 8 0
362 | wHE 2 Lkt 2X 0
363 | [EMEH 2 stttk 1 2 0
364 | X MHz 2 Lstoksttoksforokok | 4 0
365 | 17 2 skttt 4 X 0
366 X & 2 1skskstokskoskokskok 2 7 0
367 | EHIH 2 ] kkokkok ok OX 0
368 | xi# B 2 1 dsksdokokatokadokk 2 X 0
369 | THH 2 Lisktlotool k24 0
370 | HELE 2 kkkokkk k23 0
371 | BR=E 9 | sksteokeksiokok 2.5 0
372 | WpTE 2 L kskkkrkk k%08 0
373 | H 2 Lkl k X 0
374 | B 2 otttk ok 26 0
375 | fBEE I —Y 0
376 | A 9 L kskkkkkkk %20 0
377 | HErEEH 2 3skttokkatotokok G5 0
378 |k iEk 2 3skskskkskskokokokok Q3 0




379 | THHR 4]kt 23 0
380 | HEAS A1 kdkskdokdokok k27 0
381 A A — 0
382 | MRr&k 4] stttk 59 0
383 | #whR)l| 4] stttk 12 0
384 | ZXRE 4] sk 39 0
385 | S A ——" 0
386 | #H&ME A —— 0
387 | FEp 4] skgskktotokok k95 0
388 | JTHEAS R —— 0
389 | IRtEs= 4] seskskkkkokokokokQ T 0
390 | BREIA 4 sksksksksetokokokek 1 O 0
391 | At 4 sk 3 7 0
392 | itk 4 sksksksketokokokek 36 0
393 | HEHIL 41 sfekeksoolokolok 22 0
394 | HEH 4] seskskkskkokokokok()9 0
395 | FEHM= 4 sksksksketokokok k6.6 0
396 | Zf 4 Dsstokkork | X 0
397 | FLWE 4] sesktosokatotokokk 3.2 0
398 | HWN 4 Isekettotortotook4 4 0
399 | MfERk 4 Iktolokkkok 82 0
400 | #¥aiE 41 skskskstokstokskok k98 0
401 | 5KFTE 4] skskrskdokdkokk ] 5 0
402 | BEEVE 41kl k58 0
403 | 5kIK 41 skskskskok 25 0
404 | RXPEE A1 skskskstekstoskskok k67 0
405 | HHIER A1 kkskdokskdok kD | 0
406 | FHEE 4] sewsoteteksiokkok 25 0
407 | RERH 4 skskstestskskskokokek 2 3 0
408 | Tk I ——) 0
409 | FoHr 41 kxR %54 0
410 | f2H 4] sewsoteteksiokkok 25 0
411 £ 4] kxkkskkdokk %69 0
412 | FEFEMK 4] sk Q) 0
413 | XIFR A 0
414 | PP T ) 0
415 | FHt5E e ) 0
416 | WK 4 Iekotctorkoriok 16 0
417 | BRZEIE 6 2skkkkkkkokokok 22 0
418 | 5KANY B2tk 2T 0
419 ¥t BAskskskskskskokokokok 2.3 0
420 | F iR G 4skskskkskskskokokok 2.2 0
421 | S 3Tskkkkkokkokk 77 0
422 | HUREGE 3Tkt 4.0 0
423 | HER 3 Tsekoiootokokok 22 0
424 | FOCHE 3Takttpsdoobokk | 0
425 = e 6 Lskksttokokatotokok 34 0
426 | %FEH 6 Lsskeototorkekokek 2X 0




427 | XIEEIR 6 Lotk 2X 0
428 | ZEHF 6 Liokstkiokotorok X 0
429 | B 6 Liskopktsokkok 28 0
430 | BRZEZE 6 Lskkekokookokokok 23 0
431 | ke 6 Lisksktsokior 16 0
432 B I ——, 0
433 | HiglE 6 Lskkoookokokok4 7 0
434 | XER 6 Licokotokokiok28 0
435 | FiRES 6 Lotk | 0
436 | XISCEE I ——T: 0
437 | B 6 Lictowkotokokior | 3 0
438 | 3 6 Lsteketoeickokkok 22 0
439 | #CiE 6 Lskoookk 3X 0
440 | ZR 6 Lskokookk23 0
441 ZX[H 6 Lokttt 16 0
442 | W 6 Liskokotsokokok 29 0
443 TR I 6 skttt 25 0
444 | XIE 6 Liskokokokior 23 0
445 | AR 6 Lotttk 1 1 0
446 | k¥ 6 Licktopiokkiork23 0
447 | HFHF B2k k2 | 0
448 | NN B 2skkkkokok 24 0
449 | 5RMFE 6 2kkkkkokokokok 23 0
450 | KAEZ B2kl k2 | 0
451 | A i ——T 0
452 | KF 62k kskkkkkkk4 () 0
453 | ESGE ) 0
454 | FfETHE B2k RKAX 0
455 | ZEphe B 2kkkkdokakakokok 1 4 0
456 | FIHFH B 2kkookk 24 0
457 | ERGG i —" 0
458 N e ——— 0
459 | [B{E A 6 2kkkkkkokokokok2 | 0
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